rd
oz
ofd

>,

a8 olgapeg 103X 1005 +1 o

1004 =

1004

At

Fololat.

(1004 — 1)(1004 +1) +1 1004 — 1 + 1

1004 1004
= 1004




2. 2+ D22+ )24 +1)(28+1) = 29+ b oM a—b 9] G F5Hoiet,

2-1) & S8
2-1=10°]22 9] go] Halgirt.
2-DEe+DE@@+1(2* +1)(2° +1)
= (2 -2+ 12 +1)(2° +1)
=24 -1)2*+1)(28 + 1)
=(28-1)(28+1)=21¢-1
a=16, b=-1
a-b=16-(-1) =17




2011 2 x 2 5to] FA FA]2 0]-83519] 2010 x 2012 - 2009 x 2011
A 4SHH?

® 4000 @ 4017 ® 4019 @4021 ® 4023

B ~
2011 = x 2} StH
(x=D(x+1)-(x-2)x
=x*-1-x>+2x=2x-1
=2x2011-1= 4021




@ (x4 a)(x+b) = x>+ (a+ b)x + ab

@ (x+a)? =x*+2ax +d?

® (x-a)? = x*-2ax +a?

@ +a)(x-a)= 2 -a?

® (ax+b)(cx +d) = acx® + (ad + bc)x + bd

A FA1E 0]-85t0] 14.98% 15.02 = A4S 1L
o|-&5t7] Mt HA FAS 1=2H?

B

14.98 x 15.02 = (15 - 0.02)(15 + 0.02)
= 152 —0.022
= 225 — 0.0004
= 224.9996

2tA (x4 a)(x —a) = x2 — a® & AFRRITH




(a+b)(a—-b)=da*-b* & o3l Axtslr] 7P dot2 227

D)18 x 22 @ 51 %52 @ 992

@ 302 x 403 ® 1032

B

@ 18 x 22 = (20 - 2)(20 + 2)

@ 51 x 52 = (50 + 1)(50 + 2)

® 992 = (100 — 1)?

@ 302 x 403 = (3 x 100 + 2)(4 x 100 + 3)
® 1032 = (100 + 3)2




6. (a+b)(a-b)=a®-b*> = ol-&sto] Atstr] 7HF Aot A0

O 1982 @ 1012 ®)47 x 53

@ 101 x 103 ® 203 x 302

B

@ 1982 = (200 — 2)?

@ 1012 = (100 + 1)?

® 47 x 53 = (50 - 3)(50 + 3)

@ 101 x 103 = (100 + 1)(100 + 3)

® 203 x 302 = (2 x 100 + 3)(3 x 100 + 2)




7. (x-4)(x-2)(x+1)(x+3)-25=Ax*+ B3 +Cx* + Dx+ EY
™, A+ B+ C+ D+ E°| gh& F5tH?

®-2 @-1 ©o0 @ 1 ® 2

B ~
(x=4)(x=2)(x+1)(x+3)-25
={(x-)(x+3)HHE-2)(x+1)} - 25

=(x*-x-12)(x*-x-2)-25

x?—x =12 x|¥sto] AElotH (1-12)(1—-2)—-25 = 1> - 14r-1
¥ —x=tE NYHH x* = 2x3 + ¥ - 14x2 + 14x -1 = x* -
2x% - 13x2 + 14x - 1
G2t A+ B+C+D+E=1-2-13+14-1=-1°|th




8.

(x=4)(x=3)(x +2)(x + 3) o] FAANA A x* o] A=} 53] 9
stoizt,

> £

> "ED 55

~&B

filo

(x=4)(x=3)(x+2)(x+3)

={(x—4)(x+ 3)H(x - 3)(x + 2)}

=(x2-x-12)(x*>-x-6)

X0l HQ= 2 —6x% + x% - 12x% = -17x% O|t}.

webA 12 o] A —170| T AGFS 720|BE 42 o] A0}
g5 g2 —17+ 72 = 55|t}




D)(x + 2)(x + 4)(x 4 7) o] AARA oA 2 o] A4} A9
?

=
o 1

@ -2 @ 8 @ 14 ® 28

@—19
~&B

x=D(x+2)(x+4)(x+7)

={(x-1)(x+DH(x+2)(x+4))

= (x% + 6x—T7)(x% + 6x + 8)

x? 0] Y@= F2 8x2 4 36x% — 7x% = 37x% 0|t} wEbA] &2 9
A= 370]4L, A2 -56°] HE =R x? o] A49 Ao
g2 37-56 = —19°]ct.




10, (x-4y+3)2 9 AAMAANN x ) AFE a, xy o AFE b, FTT=
c2t ok} o] W, A= a, b, ¢ 9] %]’a—l—b-i—cgl*gl'%?

@ -11 @ -3 @5 @7 ® 11

B ~
x—4y = A2} o}H
(x =4y +3)? = (A + 3)2
=A24+6A+9=(x—4y)2 +6(x—-4y)+9
=x2—8xy+ 16y +6x—24y+9
La=6,b=-8,c=9
ca+b+c="7




11. (x-3y+2)2& AAMSHE?

@x2+9y2+4—6xy+4x—12y
@ x?+43y? +4 - 6xy +4x— 12y
@ x? 4 3y? + 4+ 3xy — 2x + 6y
@ x2+9y? +4—-3xy+2x— 6y

® x2+3y? +4-3xy+2x -6y

B

x -3y =t2}otH
(x=3y+2)?=(t+2)?
=r+4+4

= (x-3y)? +4(x-3y) +4
=x? - 6xy+9y*> +4x - 12y + 4




12. 2x-y+1)? S ANty JAFE A, x A AFE B T
o, A+ B °] 32 F-stofzt

> E:

[ = |

S5 ,
2x—-y+1)(2x—y+1)

=4x% - 2xy +2x—2xy+y? -y +2x-y+1
:4x2—4xy+y2+4x—2y+1

xy & Alg= -4 °|1, x 9] AlF= 4 ot

w2t A = -4, B=4 |t}

LA+B=0




13.

(ax—6y)? = 25x% + bxy + cy* 4
a>0)

> E.

> &= -19

sa+b+c O S

T-stofet. (S,

~&B

La=>5
..c= 36
—12a=b ..b=-60

a+b+c=5+(=60) +36 =

(ax = 6y)2 = a2x2 — 12Ll.xy A 36y2
a’x? — 12axy + 36y? = 25x2 + bxy + cy?

-19




14. 203 & AP the % 7hg Bela 17 g4l

@ (a+b)(a-b)=a®-b?
@(a+b)2:a2+2ab+b2

® m(a+b) = ma+ mb

@ (ax+ b)(cx+d) = acx® + (ad + bc)x + bd

® (a+b)(c+d)=ac+ bc+ad+ bd

2032 — (200 + 3)2 O|B& ¢ — 200, b — 3 0|21 5}
(a+b)* = a® + 2ab + b* & ©]-&5HH Hr}.




15. B4 B4E AH8310l, 201 x 199 5 ALK o] 714 Weler 2429

® (a+b)? =a?+2ab + b?
@ (a-b)?=a*-2ab + b?
@) (a+b)a-b) = a®-p?
@ (x+a)(x+b)=x>+ (a+b)+ab

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd

~&B

201 x 199 = (200 + 1)(200 — 1)
— 2002 — 12
= 39999

. (a+b)(a-b) =a®-b*E 0|83t}




16. x(x-1)(x+2)(x=3) = x* + ax® + bx®> + cx WA 5 a, b, ¢ &
a+b+c® P27

@ -3 @—1 ® 2 @ 3 ® 6

B

x(x—-1)(x+2)(x—-3)

= {x(x = )H(x +2)(x - 3)}

=(x?-x)(x>-x-6)

¥ —x =12 X|F5IH 1(1 - 6) = 1> - 61

t=x*— x5 Y5t A2 sk x* — 2x3 - 52 + 6x
Ot a+b+c=-2-5+6=-1°]|t}.




17. x(x=1)(x+1)(x-2)2 AN uf, x2 9] ALZ Lo},

> E.

> ®™et: 1

B

x(x=1)(x+1)(x—-2)

= {x(x=DH(x+1)(x-2)}

=2 -x)(x*-x-2)

x2 9 AlEE Folof SEER —2x2 + x2 = —x2 oA 2 9] A=
—19]t}.




18. (x-1)(x—2)(x+2)(x +3) & AN . 529 A4-Z Fal?

® 3 @5 ® 7 @-5 @)

B

(x=1)(x—2)(x +2)(x +3)
= {(x=1)(x + 2)H(x - 2)(x + 3)}

= +x-2)(x*+x-6)

22 0] ASE FHoF SHRE, 627 + 22 — 242 = ~Tx2 o A] 22 9]
AsE -Telth




19. (x4 1)(x+3y+1)E AAHsHA?

@ +x+1+xy+y @ X +2x+1+xy+2y
® x*+2x+1+3xy+2y @x2+2x+1+3xy+3y

® x*+3x+1+2xy+2y

~&B

x+1=A=2 x%stH

(Fo1R A)=A- (A +3y)

=A% +3Ay = (x+1)2+3(x+ 1)y
=x?+2x+1+3xy+3y




20.
(x+1+2y)(x+1-2y) 5 AT AL29

D x*-2y-4y*+1
@ x*—4xy+1
® x?2-2xy-4y?+1
(@)x2+2x—4y2+1

® x*-
¥ -2x+4y? +1

~&B

x+1=r2t 3k
(_x+1+2y)(x+1—2y)
= (t+2y)(t - 2y)
=12 — 4y?
=(x+1)?-4°
=x>+2x-4%+1




21. (x—-4-y)(x-y)E AN ALY

D x*—y?—4x+4y —xy @ x*+y? —4x+4y+xy
(@)x2+y2—4x+4y—2xy @ x? —y? —4x—4y+ 2xy

® x2+y? +4x+4y - 3xy

=x? - 2xy +y? —4x + 4y




22,

(2x = 3)(2x +y — 3) = AT A2

@® 4x>-6x—-3y+6 @ 4x> - 12x+2xy-3y+6

(@)4x2—12x+2xy—3y+9 @ 4x*> - 12x+6xy -3y +9

® 4x?-12x+4xy -3y +9

~&B

(2x-3)(2x—-3+y)ollA 2x—3 =t 2 X &5HH t(t +y) = 2+ ty
(2x—3)% + (2x - 3)y

=4x% = 12x+ 9 + 2xy — 3y

=4x* - 12x+2xy -3y +9

wrebA g2 @Flo]H




e

429

23. (x—y+2)(x—y-3) At 1 4

@ix-»+Mx-9-3 @ (x=(+5)x—(r-3))
® {(x+2) - yH(x=3) -y @ {x-(y+2)H(x-y) -3}
® ((x—y) + x— (- 3))

AL ((x-y) +2H(x—y) - 3} 22 FOl A x -y = 1 2 X5}
ANt Ao] 7HAF A A5}t




e

29

(x+y-5)(x—y—5) & WA 4 22

@ {(x+y) -5H(x~y) - 5) @ {x+ (y=-5)Hx~ (y+5)}
OE-5)+3(x-5) -y @ [x+(y-5)(x-y) -5)

® {(x+y) +5H(x-y) + 5}

A= {(x=5) + yH(x - 5) -y} & FOolA x -5 = 1 = X255}
A= Aol 74 @kt




25. o (-2t 1) + (654 5)(2v-3) & BAMSNA x &) AL

11 10 8
® 4 -2 @7 o3 o

B

x O] ARt Lol B, (—2x + 1)% oA x O A= -4, (6x+
5)(2x — 3) oAl x & Alg+= -8 |t}
webA] 9 AN x o AgE (<3 ) x (-4) + 3 % (-8) =

8 10
- —_=__0
6- 5= °lt




26. theF[ ool Bolz 47k A vk ohE 527

(x-4)(x+2)=x>-[ k-8
(x4 20)(x+[ ) =22+ 4y?
(@a+2)Ba-4)=3a>+| Ja-38
x+1)2 =42+ |+1

@
@
®

®
®

(x+y—2)(x+y—|—2):x2+ny+y2_4




27, (2x-3y)2—4(x-Ty)(3x+2y) & ANXlste] 21s] g Al0] ax?+bxy+cy?
A, a+b+c 2 G2 T

® -25 @ -9 ® 9 @ 7 @121

(2x = 3y)? — 4(x = Ty)(3x + 2y)

= 4x? — 12xy + 9y? — 4(3x% — 19xy — 14y?)

= 4x% — 12xy + 9y% — 12x2 + 76xy + 56y>

= —8x2 + 64xy + 65y2

WA g+ b4 ¢ = -8 + 64 + 65 = 121 O[T},




28. (3x-2) - (2x+2)(~2x + 5) 2 F7faH?

@13)62—18)6—6 @ 10x2-8x+9
@ 10x%2 -16x-11 @ 10x%>-8x+19

® 13x2-12x+ 19

(3x=2)2—(2x+2)(-2x+5)= (9x2 = 12x+4) — (—4x® +6x+10)=
13x%2 - 18x—6




29.

O& T &2 A2?

flo

® (-a-b)?=

—(a+b)?

@(—a +b)? = a® — 2ab + b*

® (~a+2)(-a-2)=-da®>-4

@ (2a-b)? = 4a® - b?

® (a+b)?-(a-b)*=0
B
—a-b)?2={-(a+b)})®>=(a+b)?

—a+b)?={-(a-b)}’

(-a)?-22=a%-4
2><2a><b+b2—4a

(a+
Z, (a-b)? =a® - 2ab + b?

— 4ab + b?




30. (x-y+z)(x+y+2)E AN Al 7T &

O {(r+y) -2} {(x+y) +z}
@ {(x-y) -z} {(x+y) -2}
@ {x-0+p{x+0-2)}
@{(X+Z)—y}{(X+Z)+y}
® {(x-2) -y} {(x-2)+y}

1g=1g
=

(FAR A= {(x+2) -y} {(x+2) +»}




